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[a 218,404 186,464 31,940
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= 28,500 0 28,500
[a 218,404 186,464 31,940
za8 HolE4 121,100 60,660 60,440
= 28,500 0 28,500
[Ea 92,600 60,660 31,940
101 1244l 72,460 43,960 28,500
= 28,500 0 28,500
[Ea 43,960 43,960 0
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[Ea 39,960 39,960 0
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= 3,340 0 3,340
z 4,000 4,000 0
201 2erE= Sl 43,840 16,700 27,140
01 At 2tel bl 14,940 12,700 2,240
O=gl 2,240 0 2,240
— 248 LB ALFA 0pA2 2
8,000& * 4% = 2,240 0 2,240
02 524t 28,900 4,000 24,900
0332 £ MA 28,900 4,000 24,900
—z48 U2y 238X 2ER=S
3,000& = 8 24,900 0 24,900
202 o4l 4,800 0 4,800
01 =LHOIHI 4,800 0 4,800
OZ2S M2 248 JI=20it]
100,000 = 48 « 123 4,800 0 4,800
tiorzel 8,826,285 8,961,845 A 135,560
= 4,746,070 4,748,820 A2,750
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= 1,285,717 1,315,942 A 30,225
2 2,745,271 2,863,956 A 118,685
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2 8,900 26,360 AT,460
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OBFAZQIEN IR QMES X3
AF 27,000,008 * 23] 54,000 45,600 8,400
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< 8,100 4,440 3,660
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= 16,200 16,200 0
3 3,240 3,240 0
2 7,560 7,560 0
02 QIR E A Ry 27,000 27,000 0
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= 2,950 0 2,950
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301 LEEHZ 17,920 0 17,920
= 8,960 0 8,960
< 2,688 0 2,688
s 6,272 0 6,272
12JEEd= 17,920 0 17,920
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= 8,960 0 8,960
=) 2,688 0 2,688
s 6,272 0 6,272
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= 16,500 0 16,500
& 4,950 0 4,950
fia 11,550 0 11,550
05 RIZtE = 33,000 0 33,000
OOt ES=2 AtHM fAE X2 550& * 60,000Kg 33,000 0 33,000
= 16,500 0 16,500
< 4,950 0 4,950
[ia 11,550 0 11,550
=& ze 1,314,530 1,094,530 220,000
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=) 18,000 18,000 0
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= 18,000 18,000 0
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Meol 2 & TEE 1,486,127 1,330,797 165,330
= 72,250 78,847 A6,597
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401 AIEHIZ 2 THYI 151,000 136,000 15,000
01 A& HI 161,000 136,000 15,000
OO0lOIA ASJ|8 HI| e AR &X
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OM Il SYEDI| &= CCTV EXI(01S4)
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2 77,175 83,459 A11,284
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SHIZ W28 AN AL 60,680 0 60,680
101 2121l 31,080 0 31,080
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O2NA PS0IN 2% U Ry
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201 2Ler2 HH| 5,600 0 5,600
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300,000 * 20 * 8742 4,800 0 4,800
—®JI2, SME 50,0008 * 204 * 8 800 0 800
301 LB A 24,000 0 24,000
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OSUNH 220K WESE 21243
3002 * 80,000kg 24,000 0 24,000
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